Mathematics 30-1: Module 5
1
Assignment

Module 5: Lesson 3 assignment 

Lesson 3: Trigonometric Identities

1.
Determine the non-permissible values for the expression 
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2.
Consider the identity 
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a.
Verify the identity for the values 
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Answer:

	





b.
Verify the identity graphically.



Answer:

	





c.
Suppose the identity were used to simplify an expression to tan x. For what values is this new expression defined?



Answer:

	




3.
Simplify each of the following expressions to a single trigonometric function. Be sure to state any non-permissible values.


a.
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Answer:

	





b.
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Answer:

	



Submit your completed Lesson 3 Assignment to your teacher for assessment.
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